
Nombre: 　　　　　　　 Fecha: 　　　　　　 Puntuación: 　　　

Multiplica decimales por potencias de diez

3, 229 × 100000 = ________ 6, 103 × 1000000 = ________

4, 928 × 10 = ________ 1, 989 × 100000 = ________

8, 756 × 1000000 = ________ 10, 468 × 10 = ________

7, 058 × 1000000 = ________ 6, 391 × 10 = ________

8, 037 × 10 = ________ 3, 434 × 100 = ________

2, 678 × 100000 = ________ 4, 242 × 10 = ________

10, 033 × 10000 = ________ 9, 645 × 10000 = ________

4, 917 × 1000000 = ________ 4, 423 × 100 = ________

8, 758 × 100 = ________ 6, 691 × 1000000 = ________

9, 697 × 1000000 = ________ 6, 487 × 10 = ________
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